Apartment in Zejtun



Reference No: 240081139-129

Zejtun, South



€245,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): 115

P☐ Bedrooms: 3

Apartment - For Sale - Zejtun

Zejtun: New to the market is this first floor apartment situated in a quiet area. The layout includes three balconies, an open-plan kitchen, living, and dining area, three bedrooms, and a laundry room. The property is being sold in shell form with common parts included and freehold.

Features

✓ Lift

Passenger Lift

✓ Balcony

En Suite

Double Glazed

Rooms

Double Bedroom : 3.46 x 3.1 m (10.73 m2)

Double Bedroom : 3.46 x 3.2 m (11.07 m2)

✓ Double Bedroom : 4.48 x 3 m (13.44 m2)

✓ Bathroom Ensuite : 1.1 x 2 m (2.2 m2)

✓ Bathroom : 2.5 x 1.5 m (3.75 m2)

Kitchen/Living/Dining: 4.44 x 8.76 m (38.89 m2)

Open Space : 1.5 x 1 m (1.5 m2)

Open Space : 3.46 x 1.2 m (4.15 m2)

✓ Open Space : 3 x 1.2 m (3.6 m2)

Open Space : 3.46 x 1.2 m (4.15 m2)

Gallery















Timothy Grech RE/MAX Central - Birkirkara

M: 79992811

E: tim@remaxcentral.com.mt

T: 21480165

RE/MAX Central - Birkirkara

Central Real Estate LTD, Triq Dun Karm, Birkirkara, Malta